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Dynamic Programming

?
Exact (optimum) efficiency !

?
efficiency accuracy 
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Approximate using Dynamic 
Programming

b=10
Opt = {1,2,3,6,7}
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Ignore the last decimal digit of Ci

b=10
Opt={1,3,4,6},

5% of Opt
Efficiency! ( +size  )
AND

1508013022015070290ci

2123214mi

7654321j
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even better: Ci
i opt

=∑ 768
Ε



4

Truncating/error
Opt original problem
Opt truncated version

( 10)
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*10
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Truncating/error
t decimal digits truncated

deviation        n*10t

Gain: Cm=max{Ci}
DP:O(n2Cm)

truncation
DP:O(n2Cm10-t)

≤
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An Approximate Algorithm
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